
HW - Review DAY 
1. Which one has the greatest y-intercept?	2. Greatest rate of change? 
[image: ]	A.				B.  			C. 				D. 
      y = -2x + 1							The function adds
												two to the input.
	x
	y

	- 1
	1

	1
	3

	3
	5

	5
	7





										




 3. Which one has the greatest y-intercept?		4. Greatest rate of change?
[image: ]K.				L.			M.				N. 	
	x
	Y

	-2
	1

	-3
	2

	-4
	3

	-5
	4


			
Y= -2x – 6									The function 
										multiples the 
										input by -2 and
										adds three 
										to it.

5.  	Which verbal representation matches the function table? 	
	x
	Y

	-2
	-3

	-1
	-2

	0
	-1

	1
	0


	
			A.  This function multiplies the input by 1 and then subtracts 2 from it.    
			B.  This function multiplies the input by -1 and then subtracts 1 to it.       
			C.  This function multiplies the input by -1/2 and then adds 1 to it.    
			D.  This function multiplies the input by 1/2 and then subtracts 1 from it.
	
6.  Write the algebraic representation for the function table in #5. 
7.                        Jacob walking to football practice													
[image: Image result for stories of a graph]
								7a.  How far from home is Jacob at 10:30?
						
								b.  How many times does he come home before 11:30?

c. What is the number of miles walked between 10:40 and 11:30? 

								d.  At what times does Jacob rest?
   (miles)
e.  At what range does his speed increase ( from what time to what time)?

(OVER )




#8		Kareen’s Walk Across Michigan
[image: Image result for coordinate plane 10 by 0]
Which statement best interprets the information provided by the graph? 
A. Kareen walked at a constant speed for the entire walk. 
Distance						B. Kareen rested three times during the walk.
(miles)	C.  She started to walk back home during day 6.
D.  She spent 6 days resting.






			Time (days)
 
Use these functions to answer #9-13
	[image: Image result for coordinate plane 10 by 0]A.  PRICE FOR Wendy’s Fries 			B.  PRICE FOR Burger King Fries
									C = 2.45P
									
								C.  PRICE FOR Hardee’s Fries
COST ($)							Fries cost $2.65 per sleeve.													
									
									D.  PRICE FOR Famous Dave’s
	POUNDS
	2
	4
	6

	COST
	5.10
	10.20
	20.40


		Sleeve of Fries
9.  What is the cost per sleeve of Wendy’s Fries?		
10.   What is the cost per pound for Famous Daves Fries?		  
11.  How much more is it for Burger King Fries versus Burger King fries?
12.  What is the y-intercept for Wendy’s Fries.


13.	       TABLE 					Algebraic
	x
	Y

	2
	-2

	3
	-1

	4
	0

	5
	1


								y  =  2x - 4
        			Which statement is true about these two functions? 
    A.  The rate of change of the table function is less than the algebraic function. 

     B. The value of the y-intercept for both functions is the same.

     C.  The value of the y-intercept of table function is greater than the value of the algebraic.
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